NORHMAL FLOAT AUTD REAL RADIAN MP n NORMAL FLOAT AUTO REAL RADIAN MP
76) WINDOMW -

Amin=-100

Xmax=5100

Xscl=500

Ymin=-1

Ymax=100

Yscl=1

Xres=1

aX=19.69696969697
TraceStep=39.39393939394

Rlist:L1

Ylist:L:

FrealList:

Store RegEQ:Y1 |
Calculate

La)=4200
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u=axx”b
a=2291.0402
b=-.9203373768
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Amin=0
Xmax=60
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Ymax=.2
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Xres=1
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Store ResEQ:Y1#
Calculate

NORMAL FLOAT AUTO REAL RADIAN MP n NORMAL FLOAT AUTOD REAL RADIAN MP ﬂ NORMAL FLOAT AUTO REAL RADIAN MP

y=axx"b

a=262.7576216
.b=‘2.119178193

Note, very close to
the book's equation.

I didn't look ahead
to see what number
I needed to trace to.
If so, I would have
picked a bigger
window:
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X=28 Y=.28646485
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Amin=45 Rlist: L:
Xmax=65 - a Ylist:L:
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Yscl=5SA
Xres=1
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¥1=".73699613880626%+106.0970709..
y=ax+b

a=-.7369961388
lb=106.0970709

=62 Y=60.46331

c) Beef consumption: 60.403 Ibs.
d) As poultry increases, beef decreases by a factor of .737.

92) aand b) To be turned in for a grade.
c) It is not quite 1%, the change is closer to .8%.




